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The highest turnover
of a company is equal to sum of all sales revenues, services from a company ‘s sales in the tax
year against invoices issued.

Y. Sales revenues: 65000 5

The highest number of successful transactions
we mean the number of performances commercial contracts, as regards previous contact with
buyers.
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Profit

is the result of a gain

p=rC=. 59,000~ 3000 2 5¢.000

P= Profit
R= Revenues
C= Costs of goods sold

Advertising Approach
We can consider all Kind of adv ;rﬁsmg billboards ,TV Channel, on web sites or on social media.
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Best Presentation of a good business plan



